W CRA) RNAFE FH& <5M+&HE> a®
Toeal] Koy Connesilams > (FPS) X =1/199.8 FEZ = - #) 55.0% + #44k =100.0%(ST=100)

EHR=-STrh /100 @ « @HEE /100 @ EIK =32385810&12
S (FPW] HE3 =1/99.9  FEZE = - %) 40.0% - #§E =100.04(ST=70)

MR A LR 7L THHR=-STH/ 70E - BEHE / 30 @ HIR 3838581089

W% AE)—- - 8(R

BB BT = — @il
W77 FEE--HY
/Y.L
MR- L1TH

[MAX HHE]

[FPs) (12 {8 /9C)
‘3B 4R--- 396 @
© BR--- 594 1@
‘2 7R--- 693 1@
© 16R---1,584 {A

[FPw] (3 & /9C)

‘52 4R--- 288 1@
((SE)BR:-- 432 {@
- 16R:--1,152 {@

WiFER B OHER
LTIV i >

O
($EEES—] _ {%

<SEREMEMN= 5 E>

TR, [EAMER] CBRoET. (A EM] Tof I ET. Presented by TKC (HBE&# F—# - /7« axfiarX)




